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[bookmark: _GoBack]Solving Linear Equations, Part 1 (Integer Coefficients)
Equations in one variable may be solved in a variety of ways. Commonly, the first step is to simplify by combining like terms. Next isolate the variable on one side and the constants on the other. Finally, divide to find the value of the variable. Note: When the process of solving an equation ends with different numbers on each side of the equal sign (for example, 2 = 4), there is no solution to the problem. When the result is the same expression or number on each side of the equation (for example, x + 3 = x + 3) it means that all real numbers are solutions.
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	Here are some to try.  Solve each equation algebraically on a separate piece of paper.  Check your answers as shown above..

	  1.  2x − 3 = −x + 3
	  2.  3x + 2 + x = x + 5

	  3.  6 − x − 3 = 4x − 8
	  4.  4x − 2 − 2x = x − 5

	  5.  −x − 3 = 2x − 6
	  6.  −x + 2 = x − 5 − 3x

	  7.  1 + 3x − x = x − 4 + 2x
	  8.  5x − 3 + 2x = x + 7 + 6x

	 9.  4y − 8 − 2y = 4
	10.  −x + 3 = 6

	11.  3y + 7 − y = 5 + 2y + 2
	12.  4y + 7 = 2y + 7

	13.  −x − 3 = 2x − 6
	14.  10 = x + 5 + x

	15.  −4 + 3x − 1 = 2x + 1 + 2x
	16.  2x − 7 = −x − 1



image1.png
Example: Solvedx+4x—-3=6x+9

Solution: 4x+4x-3=6x+9 problem
8x—3=6x+9  simplify
2x=12 add 3, subtract 6x on each side
x=6 divide

Check: 4(6)+4(6)—-3=6(6)+9
24+24-3=36+9
48-3=45
45=45 4




